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[1] DIN(ug-at L) No. 11

H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 1048 R2 3
12/27 | 12721 | 12719 | 12/25 | 12/24 | 12/22 | 12/27 | 12/26 | 12/25 | 12/24 Fiy 12/22 AR

3.9 6.5 4.3 3.3 4.3 6.0 5.0 3.3 6.3 2.6 4.5 3.5 |iw B oh A
3.7 6.4 4.2 3.5 4.7 5.4 5.8 4.0 5.5 2.8 4.6 3.4 |= H|7HA
3.6 6.4 4.6 4.1 3.9 5.5 3.9 5.5 2.7 4.5 3.2 |k BT H A
3.7 6.9 4.3 3.6 4.7 7.0 5.6 4.5 5.2 3.3 4.9 3.1 |= b 1|7Hh A
4.1 5.9 4.0 3.8 4.5 6.1 5.3 4.0 4.9 3.2 4.6 3.5 |& b 2|T7HA
4.2 5.9 4.0 3.8 6.2 5.8 6.3 5.3 5.2 3.2 5.0 3.7 |k ® m® Mo
1|oH A
= 2(oH A4
5.1 5.9 4.8 5.5 7.1 6.5 6.0 3.7 5.6 43 | M # 1|(T7HA
4.1 6.0 4.5 5.0 7.1 7.1 6.5 3.3 5.4 40 | M B 2|7h
3.8 5.5 3.5 4.1 1.2 5.6 5.7 6.4 4.1 2.6 4.9 5.2 |# 15 9| H A
5.4 3.8 3.8 4.1 8.5 1.7 6.1 5.6 3.3 |= b 1|7Hh A
5.6 1.5 3.9 4.1 3.9 5.8 4.3 4.2 4.7 |2 b 2|T7HA
4.3 1.7 4.1 4.4 4.1 5.8 12.5 5.3 4.6 |2 b 3[(7HA
0.6 4.2 7.3 5.0 4.4 4.1 1.5 3.9 2.1 3.7 1.7 |& R I A=P

0.7 4.2 4.7 4.6 56 4.0 1.5 4.0 2.2 3.5 1.5 |E R 2(om/

0.3 4.2 4.7 4.5 4.4 4.2 2.1 4.1 2.1 3.4 2.5 | R 3(om/ )

3.9 2.7 6.8 2.1 3.9 1.8 |& R 4(pm/s Y

4.6 6.4 4.4 5.0 4.5 8.3 4.5 5.7 4.4 2.0 5.0 3.0 |m W I A=P
4.2 1.1 9.4 4.9 3.6 5.4 6.8 3.1 4.8 2.1 4.5 1.4 | N 2(om/
4.4 1.4 4.8 4.8 4.9 8.8 1.1 15.0 4.2 3.3 6.3 1.8 W 4|98/
3.9 1.2 2.7 8.1 8.1 10.2 1.2 2.1 4.7 0.5 |fn B B @UhA
5.5 2.5 4.8 7.6 8.3 8.7 1.8 2.4 5.2 1.0 |1 B & O©744
5.5 1.6 3.2 1.7 8.5 8.4 2.7 2.4 5.0 24 |Fn B B OUAA
0.4 |fn B B @7hHA
2.2 3.0 1.5 2.2 5 BT HA

3.8 0.8 2.6 5.5 8.2 5.2 3.0 2.1 4.1 1.6 3.7 0.6 |& = I A=P

3.7 0.7 3.1 5.4 5.1 4.9 2.8 2.3 4.1 1.7 3.4 0.5 |5 =2 2(om/

3.7 1.2 3.1 5.4 4.8 5.1 2.9 1.9 4.3 1.8 3.4 5 = 3(om/ )

3.7 1.1 2.3 5.8 4.9 1.5 3.9 1.5 3.1 0.3 |+ 5 11874

3.9 0.5 2.9 5.6 4.7 1.7 3.9 1.5 3.1 0.2 |# B 2(om/)
3.6 1.4 2.4 5.9 5.4 6.7 6.7 2.1 4.3 0.5 |& BlohA
1.1 2.4 5.3 5.4 8.0 3.6 2.8 4.6 1.8 3.9 0.5 |#& #t 1|7H A
2.6 6.2 3.3 3.9 4.1 3.3 3.6 1.5 3.6 0.5 |& it 2|THA

3.9 0.6 0.7 4.7 4.2 4.4 3.2 3.3 4.3 1.6 3.1 0.5 |# ®*loos )

64. 6 15.1 35.1 22.2 34.3 9.6 10.7 9.5 25.1 17.6 | H 1 (RB)|RST7H

9.7 9.7 1.5 |E & 11 0.5m|RS7%+

9.5 9.5 16.5 |F & 1 (1.om|RST7H

56.6 12.6 26.9 5.8 22.4 5.3 5.0 4.6 17.4 9.9 |FHI2(XRE)|RCTH

5.3 5.3 9.5 |EFH I 2 (0.5m|RSTH

5.2 5.2 9.3 |EH ) 2 (1.om|RSTH

64.4 11.8 25.7 12.8 31.1 8.6 5.2 8.0 20.9 13.4 |EHN3 (RB)|ACTAH

7.9 1.9 14.5 |S % 1l 3 0.5m|RS7%+

8.1 8.1 121 | &% 03 (1.om|RS7+

13.9 |ZH4 (RB)|RCTH

141 |E & 4 0.5m|RS7H+

13.7 |EH ) 4 (1.Om [ROT7H

126 |EHIS5 (REB)|RSTH

13.0 | & )l 5 0.5m) [RE7H

129 |E &% 5 (1.om|RST7H




[2] Y (ug-at L) No. 11

H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 104 R2 .3
12/21 | 12/21 1219 | 12/25 | 12/24 | 12722 | 12/27 | 12/26 | 12/25 | 12/24 Fi 12/22 AR

0.57 0.80 | 0.65 | 0.49 | 0.54 | 0.58 | 0.70 | 0.43 1.47 0.64 0.69 | 0.88 [ |7 A
0.58 | 0.80 | 0.66 | 0.54 | 0.59 | 0.53 [ 0.78 | 0.58 | 0.71 0.75 0.65 | 0.54 |= B 5 A
0.59 [ 0.73 | 0.76 | 0.59 | 0.55 | 0.54 0.54 | 0.69 | 0.60 0.62 | 0.50 |4 a7 h A
0.64 | 0.71 0.66 | 0.43 | 0.58 | 0.61 0.72 | 0.58 | 0.65 | 0.59 0.62 | 0.56 |= b 1|7H A
0.64 | 0.62 | 0.62 | 0.51 0.59 | 0.57 0.69 | 0.54 | 0.62 | 0.54 0.59 | 0.55 |= S 2(oH A
0.65 | 0.64 | 0.64 | 0.58 | 0.54 | 0.58 | 0.65 | 0.54 | 0.63 0.54 0.60 | 0.54 |k ® s FTAA
= 1(7HhA
= 2|ThA
0.68 | 0.62 | 0.67 0.68 | 0.57 0.70 | 0.63 0.64 | 0.65 | 0.51 |®& P B 1|77
0.66 | 0.63 | 0.65 | 0.64 | 0.51 0.71 0.63 0.58 | 0.63 | 0.54 | m B 2|unx
0.60 | 0.54 | 0.55 | 0.57 0.50 | 0.51 0.59 | 0.54 | 0.54 | 0.51 0.54 | 0.47 |# 1% M7 A
0.60 [ 0.45 | 0.56 | 0.56 | 0.52 | 0.48 0.55 0.53 | 0.47 |2 b 1|7H A
0.57 0.27 0.62 | 0.57 0.54 | 0.46 0.53 0. 51 0.47 |= S 2(on A
0.58 | 0.10 | 0.62 | 0.59 | 0.54 | 0.44 0.38 0.46 | 0.43 |2 b 3[oHA

0.17 0.63 | 0.63 | 0.65 | 0.42 | 0.58 | 0.24 | 0.52 | 0.47 0.48 | 0.36 |& I 1|18/

0.22 | 0.60 | 0.60 [ 0.53 | 0.50 | 0.55 | 0.25 | 0.50 | 0.50 | 0.47 | 0.35 |& I3 2(oms)

0.19 | 0.60 | 0.60 | 0.52 | 0.42 | 0.55 | 0.30 | 0.48 | 0.50 | 0.46 | 0.42 |& I 3lomsy

0.57 0.34 | 0.60 | 0.51 0.50 | 0.37 |& I3 4lymsy

0.57 0.31 0. 65 0.60 | 0.53 0.49 0.55 0.27 0.49 0.43 0.49 | 0.41 | " vA=P)

0.54 | 0.21 0.55 0. 61 0.34 | 0.43 0.59 0.28 0.48 0.44 0.45 | 0.26 | " 2(oms)

0.59 0.23 0. 62 0.59 0. 51 0.49 0.77 0.38 0.49 0.52 0.52 | 0.37 | " 4|40/
0.60 | 0.11 0.44 | 0.80 | 0.56 0.47 0.20 | 0.49 0.48 0.46 | 0.22 |fn B B @|7Ah*
0.71 0.30 | 0.69 0.72 0.91 0.63 0.24 | 0.47 0.52 0.58 | 0.38 |fn m B @|7Ah*
0.69 | 0.23 | 0.52 0.70 1.01 0.52 0.39 0.52 0.57 | 0.38 |fn B B Q|7Ah*
0.23 |fn B & @|7Ah*
0.44 0.44 | 0.22 0.37 5 #| T A

0.59 0.14 0.47 0. 61 0.57 0.38 | 0.41 0.28 | 0.46 | 0.43 0.43 | 0.27 |5 # A=PA)

0.56 | 0.18 | 0.50 | 0.60 | 0.54 | 0.36 | 0.42 | 0.29 | 0.45 | 0.42 0.43 | 0.26 |5 # 2(oms)

0.55 | 0.23 | 0.49 | 0.60 | 0.51 0.38 | 0.43 | 0.30 | 0.46 | 0.43 0.44 5 2 <A=P!

0.55 | 0.22 | 0.40 | 0.62 0.37 0.21 0.45 | 0.41 0.40 | 0.24 |= 5 1|9/

0.64 | 0.21 0.52 | 0.72 0.38 0.20 | 0.44 | 0.42 | 0.44 | 0.24 [+ 5 A A=P
0.59 | 0.24 | 0.58 | 0.66 | 0.58 | 0.58 0. 67 0.55 0.55 | 0.30 |= B(ThA
0.14 | 0.41 0.59 | 0.37 0.42 | 0.42 | 0.31 0.40 | 0.40 | 0.38 | 0.23 |+#& # IPEE
0.45 | 0.70 | 0.45 | 0.39 | 0.49 | 0.38 | 0.40 | 0.41 0.46 | 0.23 |& # 2|7

0. 51 0.17 0.31 0.54 | 0.47 0.40 | 0.41 0.38 | 0.47 0.44 0.41 0.26 |+ #|oosy

0.90 | 0.38 | 0.41 0.43 | 0.57 0.47 0.13 | 0.57 0.59 0.50 | 0.41 [EHI1 (RB)|ASTH

0.63 | 0.63 | 0.41 |&% ) 1 (0.5mRST7H

0.62 | 0.62 | 0.39 | 1 (1.0omRSTH

0.91 0.39 | 0.45 | 0.38 | 0.58 0. 51 0.08 | 0.48 | 0.47 0.47 | 0.38 |[&ZHI2 (RB)|RASTH

0.55 | 0.55 | 0.36 |& % il 2 (0.5m[RST7H

0.56 | 0.56 | 0.36 |& % il 2 (1.0m(RST7H

0.88 | 0.35 | 0.38 | 0.32 | 0.56 0.53 | 0.09 | 0.48 | 0.60 0.46 | 0.41 |[EHI 3 (REB)|ASTH

0. 61 0. 61 0.38 |&= % )l 3 (0.5m|RC7H

0.62 | 0.62 | 0.36 |& % )l 3 (1.0m[RT7H

0.41 |E2F N4 (RB)|RSTH

0.42 |& % )l 4 (0.5m)(RST7H

0.43 | & Il 4 (1.0Om[RCTH

1.19 |FHN5 (RB)|RCTA

1.15 |E H ) 5 0.5m|RST7H

1.09 |F% 5 (1L.om|RTTFA




(3] X & No. 11
H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 1048 R2 -3
12/27 | 12/21 | 1219 | 12/25 | 12/24 | 12/22 | 12/21 | 12/26 | 12/25 | 12/24 | F# 12/22 AH
13.5 14.0 13.0 13.0 12.0 13.1 # FohA
12.9 12.4 13.6 10.8 13.9 14.1 13.0 2 H|7H A
14 [T A
= H 1(7H 4
2 b 2|7H A
14.8 13.0 12.4 12.2 15.4 15.1 1.9 15.0 15.3 13.9 13.7 |x ® 1B FMThs
=z 1(7HA
=z 2|7H A
LT i I | B B L P
B M BT 2|ThA
# 5 |75 A
2 A 1| TH A
2 A HBEE
2 A CCEE
14.0 13.0 12.0 13.0 15.0 14.4 11.8 14.5 14. 4 13.6 13.6 |E R =P ]
14.0 12.8 12.7 13.0 14.9 14.3 11.8 14.2 14.5 13.6 13.4 |E R 2|y8/Y
14.0 12.8 12.7 13.0 15.1 14.5 12.0 14.1 14.6 13.6 13.7 |E R 3|ymsy
14.2 11.5 14.1 14.6 13.6 13.5 |E R =
12.5 13.2 12.5 12.8 12.2 15.1 15.0 10.2 12.9 14.3 13.1 13.4 | "N i 2=-P]
12.5 14.2 10.8 12.5 12.2 15.5 14.8 11.0 13.6 13.9 13.1 12.0 | "N AvA=P!
12.0 14.2 12.5 12.2 12.0 14.5 14.0 9.8 13.6 14.1 12.9 13.6 | [ 4lymsy
13.3 11.3 10.5 10.3 13.6 10. 6 13.0 12.5 11.9 13.2 |fn B & @7a+
13.5 12.1 10.9 10.8 14.1 10.8 14.6 13.9 12.6 10.7 |fn B & @|7a+
13.5 12.1 11.0 11.0 14.3 10. 6 14.3 13.6 12.6 11.2 |fn B & O|7a#
13.2 |fn B & ®7Ah+
5 E(THA
13.0 14.0 13 12 8 14 15 10 14 12.5 12.4 |5 = 11787
13.0 14.0 13 12 8 14 16 10 14 12.6 12.4 |5 # 2|ym/Y
13.0 14.5 13 12 9 14 16 10 14 12.8 5 = 3lym/sy
10.0 14.5 12 10 15 " 13 14 12.4 12.0 | 5 =P ]
10.0 14.5 12 10 15 " 13 14 12.4 12.0 | 5 2|y8/Y
th B|7HA
12.1 12.1 = #t 1|THhA
& #t 2|7Hh A
13.3 14.0 11.6 12.9 12.6 16.0 16.1 12.2 14.7 13.9 13.7 13.0 [ w®|oBa/s)
8.0 10.5 9.0 8.5 9.0 11.2 7.0 13.0 11.8 9.8 1.8 |EHIN1 (RB)|RCTH
12.0 12.0 1.7 |25 01 0.5m|RST7H
12.0 12.0 1.7 |2% 01 1Lm|RSTH
9.2 11.0 9.5 9.0 12.8 12.0 8.0 14.5 12.7 11.0 9.0 [EHN2 (RB)RSTH
12.8 12.8 9.1 |EH )l 2 (0.5m|RCTH
12.9 12.9 9.3 |F®H 2 (1.om|RTTH
8.0 11.0 9.2 8.8 11.0 11.5 7.0 14.5 12.2 10. 4 8.2 |[EHN3 (RB)RSTH
12.3 12.3 8.3 |ZH )3 (0.5mRTTH
12.3 12.3 8.6 |ZH )3 (1.om|RTTH
8.4 |&HIN4 (KRB RSTH
8.3 |ZH )l 4 (0.5m|RCTH
8.3 |EH 4 (.om|RTTH
1.9 [EHN5 (RB)|RASTH
1.8 | H 5 0.5m|RSTH
1.9 |2 ® 5 1L.mM|RSTH




(4] & % No. 11

H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 104 R2 .3
12/21 12/21 12/19 12/25 12/24 12/22 12/21 12/26 12/25 12/24 T 12/22 AH

325 | 30.6 | 31.4 | 31.3 | 30.8 | 31.5 | 31.2 | 31.8 | 31.1 31.9 | 31.4 | 31.8 | |7 H A
325 | 31.0 | 31.4 | 31.2 | 31.3 | 31.6 | 30.9 | 31.8 | 31.2 | 32.0 | 31.5 | 32.4 |® B 5 A
32.4 | 30.8 | 31.8 | 31.4 | 31.4 | 31.6 | 31.1 32.0 | 31.6 | 31.9 | 31.6 | 32.6 [4& a7 h A
32.4 | 31.0 | 31.7 | 31.5 | 31.6 | 31.9 | 30.9 | 32.3 | 31.9 | 31.8 | 31.7 | 32.9 |= i 1|7H A
32.4 | 31.2 | 31.7 | 31.5 | 31.6 | 32.1 31.5 | 32.3 | 31.9 | 31.8 | 31.8 | 32.7 |= b 2(oH A
324 | 31.6 | 31.8 | 31.4 | 31.5 | 31.8 | 31.4 | 323 | 31.9 | 31.8 | 31.8 | 31.6 |k ® 1, mM|7A
= 1(7HhA
= 2|ThA
32.6 | 31.6 | 31.6 [ 31.9 | 31.9 31.8 | 32.0 31.8 | 31.9 | 329 |® FM Er 1|7h
325 | 31.6 | 31.7 [ 31.9 | 31.8 31.8 | 32.0 32.1 3.9 | 328 [ M m 2[onx
325 | 31.6 | 31.6 | 31.9 | 31.5 | 32.0 | 32.0 | 32.3 | 32.3 | 32.1 32.0 | 32.8 |# 1% FA| 7 5 A
31.4 | 31.5 | 31.7 | 31.9 | 31.65 | 32.3 31.7 | 32.6 |= i 1|7H A
31.1 31.2 | 31.8 | 31.8 | 31.5 | 32.1 31.6 | 32.0 |= b 2(oH 4
322 | 29.3 | 31.7 | 31.8 | 31.7 | 31.9 31.4 | 32.2 |= i 3|[oHA

31.2 | 31.7 | 29.3 | 31.3 | 32.0 | 31.4 | 325 | 32.3 | 32.0 | 31.5 | 32.4 |& I 1|18/

31.4 | 31.6 | 31.7 | 30.7 | 32.0 | 31.6 | 32.4 | 32.2 | 31.8 | 31.7 | 32.7 |& I3 2(oms)

31.4 | 31.5 | 31.8 | 31.5 | 32.1 31.5 | 32.4 | 32.0 | 31.8 | 31.8 | 32.6 |& I 3lomsy

31.9 | 32.4 | 32.0 | 31.9 | 32.0 | 32.6 |& I3 4lymsy

320 | 28.7 | 31.2 | 31.7 | 30.9 | 29.8 | 31.2 | 32.2 | 32.0 | 31.9 31.2 | 32.7 | [ vA=P)

32.1 31.6 | 26.0 | 31.9 | 30.9 | 31.6 | 29.4 | 32.1 31.9 | 31.4 | 30.9 | 32.3 | " 2(oms)

322 | 31.6 | 30.9 | 31.8 | 31.3 | 29.4 | 26.2 | 32.2 | 32.1 31.1 30.9 | 33.0 | [ 4|40/
322 | 30.9 | 31.6 | 30.9 | 28.3 | 27.6 31.0 | 31.5 30,56 | 327 |\ B & @7A
320 | 31.3 | 30.7 | 30.8 | 29.9 | 30.0 32.0 | 32.1 31.1 322 |m B & Q7HA
320 | 31.3 | 30.7 | 30.7 | 30.0 | 29.9 31.9 | 31.9 31.1 325 |0 B & Q7AA
325 |1 B B @A
31.2 32.6 31.9 5 |7 H A

32.4 | 31.6 31.2 | 31.4 | 27.9 | 30.8 | 32.6 | 32.6 | 32.2 | 32.3 | 31.5 | 32.6 |5 2 1|18/
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